& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3211) ZME 2 22| NIAIEE: (120) B & X I (=3[ dE]

ok = 7S I R == ] m}
of &b oH A 2 ol =
Xt BB MIE HIMIE = of & ¥ = A 2
3000 [2 16,442,079 = 34,543,227 X 0 = 62,875,000]
A RN 114,316,306, 109,144,857 5,171,449| [D| 0 = 456,000 1 0 ]
3200 [2 16,442,079 = 34,543,227 X 0 & 62,875,000]
X &4 2 HIOH | 114,316,306, 109,144,857 5,171,449 [l 0 = 456,000 1 0 ]
3210 [2 16,442,079 = 34,543,227 X 0 = 62,875,000]
ZHS A 114,316,306, 109,144,857 5,171,449| [D| 0 = 456,000 1 0 ]
3211 [2 3,807,000 & 8,930,673 X 0 = 14,982,000]
ZHE 2 27,909,673 21,087,356 6,822,317 [l 0 = 100,000 0 ]
100
2 AHOH| AF 252,970 266,120 A13, 150
120
A A A 252,970 266,120 A13,150
201
our2 oy 81,510 133,080 A51,570
74,510 77,980 A3,470/01 LBt A
oA Y| = 27,000
oRZ-R2 L HA = 960
o2gadg = 29,000
o2& = 17,550
7,000 55, 100 A48,100(02 SAFR Y]
CHMBY BMA L IR, ST EH S = 7,000




& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3211) B HIE 222 NIAIEE: (120) B & X I (=3[ dE]

L = SIS = m}
Ol AF o4 A 2 ol =
.28 HE NME = Of & M = oA 2
202
Il 79,700 62,100 17,600
61,700 62,100 40001 SLHOIHI
CHMEHALFZ = 56,700
ocMIISHIUIYLEA = 5,000
18,000 0 18,000/02 & 04l
CcHIISHIIE AZa 22X
1,000,0008! x 9% x 2% = 18,000
203
=AY 61,660 61,660 0
4,200 4,200 001 JIZ2gYREAL|
o3 = 4,200
40,600 40,600 0/03 AIMFAARFAL|
oXHAMELS ABEX = 25,000
CHMSA ABFEZR = 12,000
CTMEY A2 XX = 3,600
16,860 16,860 004 EARLLRETL|
CHME D 350,0002 x 128 = 4,200




& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3211) B HIE 222 NIAIEE: (120) B & X I (=3[ dE]

L = S == S i}
O]l At o A = Il =
Rt 2H. 8 MIE. MIMIE 2 O]l &b oM = A 2
o2 IS A 355,0002 x 128 = 4,260
o )| X2t 350,000 x 128 = 4,200
o I} 8AR T 350,0002 x 128 = 4,200
301
UL A2 30, 100 9,280 20,820
30, 100 9,280 20,820 |10 SHAFAIH| B A2
oM AHBAZ = 30, 100
200 [2 3,897,000 & 8,677,703 X 0 & 14,982,000]
A2 O] AF 27,656,703 20,821,236 6,835,467| [2I 0 2 100,000 0 ]
210 [=2 3,897,000 & 966,000 Xl 0 & 14,982,000]
BXALY 19,845,000 16,766,710 3,078,290| [2I 0 = 0 o 0 ]
201
U2 A Y| 68,000 37,320 30,680
68,000 37,320 30,680|01 LBr2AH|
SHUXEHYZRY fE I 600,0002 x 18% = 10,800
(=) 10,800
o XIES 2HHC 2L =82S M = 57,200
(=) 47,200
(%) 10,000
202
o= 15 12,000 12,000 0




Z:(3000) 2 MO Hl 2+ (3200) X< HIJH L 8t (3210) 2 RIS & Mg : (3211 Z B 2e RIMIE: (210) B XA EEMEEERCE]
ok = P I = H ml
O]l At o A = Il =
Rt 2H. 8 MIE. MIMIE 2 O]l &b oM = A 2
12,000 12,000 0/03 =22/04H]
oXlY yKge= 12,000
(2) 12,000
308
REXISHH S 1,438,000 1,480,000 242,000
o1&
1,438,000 1,480,000 A42,000{01 KIXICHHPAEXZ
CNEEXSHAIY 1,438,000
(=) 1,278,000
(%) 160,000
401
A&l e 2,454,000 1,018,000 1,436,000
CHH
2,413,200 998,994 1,414,206|01 Al&H|
CEHYE M XY 2,413,200
(2) 1,630,360
() 782,840
32,000 12,432 19,568|02 22l
SR LT H X XA 32,000
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ni; = P IR m
— of & o | T Hl - A = ol %
T o B NE L MAE = o & %) =5 A Z - = .
(=) 21,620
(<) 10,380
8,800 6,574 2,226|03 Al&=Chl
CEHYENHI =Y = 8,800
(=) 6,020
(£) 2,780
403
XX EHH S 15,873,000 14,219,390 1,653,610
H=ol®
15,873,000 14,219,390 1,653,610/01 XtXIEHHI X2 =
o JRIYRIXI(MA) = 181,000
(=) 181,000
olED NSMESS(2E, NF) = 100,000
(=) 100,000
oIlI2S HAEAIAE(HQ, BF) = 500,000
(=) 500, 000
ol &34 Al AE(EHOH) = 110,000
(=) 110,000
STHEHAIE Al S HEHALY 14,982,000
(2) 14,982,000
S HOF LS UAIE = 1,600,000
(2) 1,600,000
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ot = PSR I = m)
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -
ot MAAIR = 1,839,000
() 1,839,000
X ASAIE = 600,000
() 600,000
B3 S2AE = 348,000
() 348,000
ObAh 2 ALS Al E = 900,000
() 900,000
CNA SRAIE = 999,000
() 999,000
=4 SHXAIE = 400,000
() 400,000
=A 2AAUHEAR = 896,000
() 896,000
==V INPS, = 800,000
() 800,000
S 01D RX|ISAIE = 1,500,000
() 1,500,000
S| 2HUHBEAIR = 180,000
() 180,000
S0 SUAE = 990,000
() 990,000
CNE HEAE = 430,000
() 430,000
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o = d 4@ = oy im)
Of &F ©h &t = 7l =
.2 e ME L AIAIE 2 o & M= oA Y
E4 HIIANE 900,000
2 900, 000
ES HEANT 600,000
2 600, 000
24 ZEMWAHAH 1,460,000
2 1,460,000
- ENQF QFOITHRH Al E 270,000
2 270,000
CEROE ATEAIR 270,000
2 270,000
220 2 0 & 7,711,703 X 0 2 0]
JADSIPNG=: 7,811,703 4,054,526 8,757,177 [l 0 =2 100,000 1 0 ]
101
oI 500, 000 500,000 0
500,000 500,000 0/10 LAIAtS QIR
ST A 500,000
= 400,000
= 100,000
201
UL A Y| 56,500 5,000 51,500
53,500 5,000 48,500/01 LBr2 A
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH 8 :(3210) B NS & Mg (3211) ZME 2 22| NIAIES: (220) KR ALY (=3[ dE]

2 = S IS R == S )
ol & o b 2 Il =
I 2. NS HIAIE 2 G & oM = oA A
2,868,893 308,116 2,560,777|05 RIZtSIEHS
220078 M2I1sAFIIUE M= 2,820,000
S BADHE 22l X = 2,320,000
CNYHAHE L A2 &K = 500,000
o22XEXaA L =SI ALY 22lH (ML)
= 48,893
308
XX SIS 1,554,440 2,243,440 689,000
ks
1,554,440 2,243,440 A689,000(01 RIXISHHBAEEZ
o2 EA CUHRY 29
30,0002 x 92 x 6% x 12 = 19,440
o220l 22X XNAMEH 29
10,000,000 x 2JH4 x 50% = 10,000
oBE2ZAS (16IHAIZ)
10,000,000,0002 x 15% = 1,500,000
oFutets X = 25,000
403
XSS 2,406,000 795,600 1,610,400
XH0ld

_10_




& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3211) ZME 2 22| NIAIES: (220) KR ALY (=3[ dE]

ok = 7S I R == ] m}
of &b oH & = Il =
Xt BB MIE HIMIE = of & ¥ = A 2
2,106,000 795,600 1,310,400(01 NXISHAIE2E =
oF NP HE FH B = 6,000
oTHEHAIR AN (SA)EHEIAIY
1,000,000,0002 x 30% = 300,000
CHZXN KNEXF HLALY = 500,000
o YUYISNI|BEA| A 2 A} = 1,300,000
300,000 0 300,00002 ZJ|2S 0fl CHEHCHEH ALY
ol UES IS0l AMAS = 300,000
3212 [=2 0 & 2,943,817 X 0 = 470,000]
RS A2 3,413,817 3,369,884 43,933 [l 0 = 0 0 ]
100
2 AHOH| AF 1,446,120 1,039,920 406,200
120
A A A 1,446,120 1,039,920 406,200
201
B2 oy 192,220 172,820 19,400
174,320 151,220 23,100/01 Lt H|
obta gy = 93,900
cRTR2 L HA = 16,570
o2& = 13,850
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg :(3212) =S4 22l NIAIE: (210) E R A Y (=3[ dE]

n; = P IR m
— of Ao N Hl - A = ol %
I 2 S MIE. NIMIE =2 O]l &b oM = A 2 - = -
210 [=2 0 = 705,000 Xl 0 470,000]
BXAIY 1,175,000 1,506,000 A331,0000 [2I 0 2 0 o 0 ]
307
0I2+0| & 1,175,000 750,000 425,000
1,175,000 750,000 425,000(05 QIZtR/EL2
oAl EAR ESDIHE AY = 217,500
(%) 130,500
() 87,000
oxZE)|Y SH(FEIFXTDESIAIY) = 150,000
(%) 90,000
() 60,000
o GHRAAIR JHE ALY 582,500
(%) 349,500
() 233,000
CANFIWEE IHA = 270,000
() 162,000
() 108,000
CM™Al - Bt2EE EDF XY = 312,500
(%) 187,500
() 125,000
OMRAZAIIY XIALSH A (Z3HR ELEH = 100,000
(%) 60,000
() 40,000
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Z:(3000) 2 HMIOHEH]  2:(3200) A1 A MIJH | & (3210) 2 HI sS4t Mgt (3213)J1 9 K| & 22| HIAIEL: (120) 8 A S Z | (2[R HA]
2 = FS I m
oo e " & =
a2 & NE L MAE =2 off &b oA = A
202
o4 42,000 36, 100 5,900
42,000 36, 100 5,900(01 =2LHAHHI
ISPl PN R R =N = 42,000
203
AR =X 2,400 2,400 0
2,400 2,400 0/03 AIFAHRFAIY|
ISPl Rt PN Res o= = 2,400
200 [=2 795,079 = 5,605,000 X 0 < 20,406,000]
AR Ol &F 27,162,079 40,402,079| 213,240,000 [D] 0o = 356,000 1 0 ]
210 (=2 795,079 &= 763,000 Xl 0 & 20,406,000]
BERAIY 21,964,079 35,257,079 213,293,000 [D] 0o =2 0 0 ]
306
e 1,200,000 2,000,000 AB00,000 | EESHEHERY = 1,200,000
o= 600,000
nag 600,000
307
01201 & 795,079 795,079 0
795,079 795,079 0105 2I2t8 &2
o AAZ20l XIKMEH 29 = 795,079

_20_




Z:(3000) 2 MO Hl 2+ (3200) X< HIJH L &:(3210) 2 HIS A Mg (3213) 01 X2 22l HIMIE: (210) B EAFY EEMEEERCE]
2 = ¥ o9 = |y m
o o o | - A = 5 z
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
(2) 795,079
403
XX SIS 19,969,000 32,462,000 A 12,493,000
el ™
19,969,000 32,462,000) A 12,493,000(01 KXISHMA2EE
S 1= NS = 2,501,000
() 163,000
() 2,338,000
OO XYAACHT] DAL AIS XA = 1,200,000
() 1,200,000
CEATC XZAATHT ZAELAIEXR = 7,279,000
() 7,279,000
CELNMIEE ZMFCX(OAMHI-MR|) 2HRLAIEX
= 7,489,000
() 7,489,000
OEIED XYUAACHT] DARIAIL XA = 1,500,000
() 1,500,000
220 [=2 0 & 4,842,000 X 0 0]
KA AL 5,198,000 5,145,000 53,000 [2I 0 2 356,000 I 0 ]
207
o Of ey 200,000 100,000 100,000
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 MIgH: (3213) 1 S XI & 22l NIAIES: (220) KR ALY (=3[ dE]

L = Hod | oy i}
ol & o b 2 Il =
T2 NE. HAE = o & M = oA Y
CHNSZUE L FAI|Y NBSTUA = 40,000
118,000 108,000 10,000|04 BIRHEHALE X
oRI373 EHLT BUEUN = 30,000
oEHA FAIIUNE TN = 60,000
oEHUT MACIXAUH = 28,000
3,000,000 3,000,000 0/08 OIXE2HSB
oEAIIAHAAFIS 0INEAS = 3,000,000
308
RIS S 30,000 40,000 A10,000
ol &
30,000 40,000 A10,000/01 RHXISHRBALES
CHSIUE ANEB MY = 30,000
403
XSS 776,000 1,024,000 A248,000
Xt 0l &
776,000 1,024,000 A248,000(01 RFXISHHIXIE £ X
oSZUXILZIIE AL
1,000,000,0002 x 30% = 300,000
oXO2 XIYAACHT] 23T X AHHI = 300,000
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& :(3000) ZHIONZHl  2t:(3200) XIS Z HIHEHI & (3210) 2 HI sS4t Mg (3213) 219 X & 22 HIAIEL: (220) XEMIAFS 2[R HA]
2 = FS I m
oo e " & =
a2t g MlE L AAE == of & o = A
2) 300,000
o BF AR XHAACHX] 23 = A = 56,000
2) 56,000
ocZBMME &2 EX(2IMA) = 120,000
702
IN2HEES 420,000 0 420,000 | eS| =4H OIXNEES 22 = 420,000
3214 [= 0 = 11,207,180 X 0 & 25,392,000]
skatA ke 36,599, 180 43,349,780 AB6,750,600| [2I 0 = 0 0 ]
100
A0 & 140,820 154,780 A 13,960
120
FAXFH| 140,820 154,780 A 13,960
201
22 AH| 60,420 79,880 A19,460
60,420 70,860 A10,440101 €82 AH|
o b2 H| = 42,700
o2yt = 6,720
o Z 2| = 11,000
202
(0: 1] 44,000 38,000 6,000
44,000 38,000 6,000[01 =LHO4HI
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ZH:(3000) B HMIJHEHI  2:(3200) XIS B MoK & (3R10)Z =S4 MIEt:(3214) 0t 8k okl 2te)| HIAIE: (210) B = At (2] [ &¥]

i = bS] ] c m
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA - = -

(%) 438,000
() 5,690,000
O HADICIHAF SHAIE 24 = 4,629,000
() 4,629,000

oHIXI|USHEEI X ALY (M OHER| POST-BI L F22t =)
= 3,000,000
(%) 500,000
() 2,500,000
o XIS AL (CIAZH Ol RROZHAE) = 2,123,000
() 193,000
() 1,930,000
o XIHE AME (RIC)AIY = 3,815,000
(%) 600,000
() 3,215,000
ONEXNEE ROEHGIME AHE = 4,945,000
() 1,115,000
() 3,830,000
ONEXNEE AADI SN = 2,046,000
(%) 319,000
() 1,727,000

307
0I2H0| A 1,400,000 0 1,400,000
1,400,000 0 1,400,000(02 QI2tAAE X
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Z+:(3000) Z MIOHEHl  2:(3200) X1 <& HIJH 2l &:(3210) 2 M S & HIEH:(3214) 0t & A 22| HIAIE: (210) B = At 2] [ FA]
2 = F I B m
AF o ] i " 2 ) =
.2 g ME AN = of &b o E VAN
o XA AMESHFH(RIS) 1,400,000
< 400,000
= 1,000,000
308
INPNR=PS (S 20,000 0 20,000
ol
20,000 0 20,000/01 AXISMBAEXS
oZggMOoIIHI0 *4E 2Y = 20,000
= 20,000
402
It X =0l 120,000 2,300,000 A2,180,000
bl
120,000 2,300,000 A2,180,000|01 RI2tA=2E2 X
o= ANRSHEH HE = 120,000
= 120,000
220
KX AFS 7,201,360 10,983,000 A3,781,640
306
=43 2,470,000 6,750,000 A4,280,000| @ AtsXHZ0F M= AL
50,000,000& x 2714 100,000
oI AZ 0l AI(EXPO) AL = 200,000
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH 8 :(3210) B NS & MIgH: (3214) star e NIAIES: (220) KR ALY (=3[ dE]

t = 7SI E I = I = Il
of Ab o A = o] =
.2 E NS AAE =2 of  Ab oM = A

oC|AZY 0| M2 AAS = 50,000
oCIAZY 0l SHAIY = 100,000
S XM UPOPERSH I RS ALY = 30,000
oXZSAEoS 29 = 100,000
o Xz 0| &M E(RTTC) 50,000,0008 x 14IH = 50,000

oUIEHAHIIIE QUEALLAIY (BRET)
20,000,000 x 1Al = 20,000
o=HA WHIIX JHA 100,000,000 x 14! = 100,000
oXHALFHE X = 720,000
oLt EE B ME (NNFC) X & = 1,000,000

307
QI2t0| & 3,731,360 3,233,000 498,360
3,551,360 3,083,000 468,360 (02 QI2+AAE X

oMU MEXN M (THIHSER) 198,000
SHSIALY 150,000,000 x 1JHAIY = 150,000
F2AMNT 48,000,0002 x 1HAFY = 48,000
oXl st A A2 ASALY (NRI SHICHE S X} 1,200,000

HEAS (20, SMHU S2IAISE)
500,000,000 x 2JHAF = 1,000,000

SSAIS (AL, D FelAHE)
100,000,000 x 2JHAFE = 200,000
opSEE)|Y BHHRA AR = 300,000
optstE Al T2 = 150,000
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ZH:(3000) B HMIJHEHI  2:(3200) XIS B MoK 8:(3210) 2 Ml S & Mg (B215) NS S A X AIRA MAIE:(110)2124H] =2H| [ EY]
2 = S I == e i}
o & = &k = Il =
.8 NE . MAE = Of & % = oA
101
lalsl 486,545 459,531 27,014
178,862 170,839 8,023/01 Jle2=
o Yty 124,232
= 0= 2,863,100& x 2% x 12&8 = 68,715
6= 283 2,450,500& x 198 x 12&8 = 29,406
2 262 2,175,900& x 1% x 12&8 = 26,111
SIS 36,687
9= 172 1,528,6002 x 2% x 128 = 36,687
ocdI=E = 13,410
SPSEY/ Fal:l = 4,533
47,101 39,930 7,171102 =%
oItExY 6,048
BH < Kt 30,000& x 6% x 1 x 12&8 = 2,160
- JIE 20,0002 x 6% x 2.7 x 128 = 3,888
osiHIE LY 6,078
EA=lm 54,0003 x 6% x 0.9 x 48 = 1,167
Hsstul 409,200& x 6" x 0.5 x 48 = 4,911
o/II2H4Y 7,440
25301 & 130,000& x 198 x 12&8 = 1,560
- 25 ~ 208014 110,000& x 3% x 128 = 3,960
-20 ~ 540l& 80,000& x 29 x 12&8 = 1,920
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Z:(3000)Z RN Hl  2:(3200) KIS ZRIONEHl  8:(3210)Z M S4 Mg (3215) M S S AR AR A AIAIE: (110)0124H] =3[ 8]
o = S R im)
of & o A 2 ol =
.2 HIE A = Of & M = oA 2
clRIRA+Y 2,666
62 2,450,5008! x 1% x 0.048 x 128 = 1,412
73 2,175,9008 x 19 x 0.048 x 128 = 1,254
celgRsd 5.764
43 5.336,8002 x 1% x 0.09 x 128 = 5,764
oSS+ 40,0008 x 19 x 128 480
SN2 R4Y 18,625
10,920 10,920 0|03 HAZ AL
o HHZ A 130,0008 x 7% x 128 10,920
9.360 9,360 004 DELZEH|
o4 ~ 53 140,0008 x 2% x 128 3,360
o6 ~ 73 130,0008 x 2% x 12€ 3,120
=8 ~ 103 120,0008 x 2% x 128 2,880
16,511 15,665 846|105 HE S|
SHH S| 13,759,0008 x 0.6 x 2 16,511
27,518 26,107 1,411)06 JFH X b
S JIH X2 H 165,103,0008 x 1/12 x 28 27,518
5,733 8.703 A2,970/07 SOFE AH|
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Z:(3000) B MIOHEHl  2:(3200) K= 3 HIOH L Hl g (3210)3NSH Mg (215) IS S AR AMEA MIAE:(110) 2124 ][ dH]
o = & 49 = | im|
o e = &k g Il =
T NE AANE = o A W= oA
o HILE & 13,759,000& x 1/24 x 104 = 5,733
190,540 178,007 12,533|08 JIEtX 2 ==
=10 158,417
= 3,862,410& x 1&¥ x 12& 46,349
U= 3,345,160& x 1& x 12 40,142
Ba= 2,996,915& x 2& x 128 71,926
X224 10,415
LS 3,731
= 6,684
S = 3,360
B <> At 30,0008 x 48 x 1 x 12 1,440
JIEt 20,0002 x 4% x 2 x 12& 1,920
osH|EX 4,138
eSS} 54,0003 x 48 x 1 x 48 864
Jsstul 409,200 x 48 x 0.5 x 42 3,274
ocZAS A 130,000& x 4% x 12 6,240
o HILE & 9,241,000& x 1/24 x 10& 3,851
SZSEV Fals] 4,119
120
da8 3| 347,660 331,330 16,330
201
2t g 221,320 219,090 2,230
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (215) IS SR AMEA MIAE: (120) 3 & (=3[ dE]

t = 7SI E I = I = Il
Ol &b o A 2 ol =
I o B NIE . HIAIE = of A M| = oA
3,000 3,000 0|04 ENSLARETH]|
ONESESAANRA 250,0002 x 128 = 3,000
204
R Q5 69,240 69,240 0
HI
6,000 6,000 0|01 22 AR FAH
oA 400,0002 x 1% x 12" = 4,800
o DHE 100,0002 x 19 x 12" = 1,200
58,440 58,440 0/02 2B XH|
o UBHA 19,920
43 400,0002 x 19 x 12" = 4,800
52 250,0002 x 2% x 128 = 6,000
62 155,0009 x 4% x 128 = 7,440
73 140,0002 x 19 x 12" = 1,680
oJlsX 2,520
92 105,0002 x 29 x 12" = 2,520
otAAREX 300,0002 x 109 x 12" = 36,000
4,800 4,800 0/03 SEYRL#HE=H|
ofpl = 50,0002 x 8% x 128 = 4,800
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (215) IS SR AMEA MIAE: (120) 3 & (=3[ dE]

ok = 7S I R == ] m}
of &b oH A 2 ol =
Xt BB MIE HIMIE = of & ¥ = A 2
301
ot A= 6,000 6,000 0
6,000 6,000 0112 J|EIE2 &2
CEMRE, EXNSX N22A = 6,000
405
XHAFE S| 10,600 600 10,000
10,000 0 10,000|01 Xr&atY =22 F SHI
oI|EXMSI| Y F=HX WA 500,000& x 20CH = 10,000
600 600 0102 =AY
oRAT R 30,0002 x 5& x 43 = 600
200
AR Ol A 15,000 22,000 A7,000
220
XERIAFES 15,000 22,000 A7,000
201
QB2 AH| 15,000 0 15,000
15,000 0 15,000/01 Lt
oZ=d HIXY(RHEX, X0 S) 2 = 15,000
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3216) F Xt= Xl 22l NIAIEE: (120) B & X I (=3[ dE]

ut = "SI E == ] Il
ol & o Ab = 0| =
a2t g MlE L AAE == off &b oA = A
3216 [Z2 11,750,000 & 4,876,500 X 0 & 1,625,000]
EXs A2 18,251,500 0 18,251,500 [DI 0 = 0 0 ]
100
A0 & 52,600 0 52,600
120
FJAXZH| 52,600 0 52,600
201
8t2AH| 34,400 0 34,400
30,300 0 30,300(01 Er249H|
ogbtZH| = 21,300
oz32= ¥ HA = 3,800
o2y Act = 2,000
o Z &l = 3,200
4,100 0 4,100(02 A2 FHI
odNEdE A Y HEG S = 4,100
202
(0: 1] 9,800 0 9,800
9,800 0 9,800/01 =2LHMHI
CcENRIERFA = 9,800
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3216) F Xt= Xl 22l NIAIEE: (120) B & X I (=3[ dE]

L = S == S i}
O]l At o A = Il =
Rt 2H. 8 MIE. MIMIE 2 O]l &b oM = A 2
203
AR = A 8,400 0 8,400
8,400 0 8,400/03 AlBZ=ZXIHD2=XIH|
CEXSXIAMER = 6,000
CEXNRXYREA = 2,400
200 [=2 11,750,000 & 4,823,900 X 0 & 1,625,000]
A2 O] AF 18,198,900 0 18,198,900| [ 0 2 0 o 0 ]
210 [=2 11,750,000 & 3,812,500 X 0 =7 1,625,000]
B XA 17,187,500 0 17,187,500| [2| 0 = 0 o 0 ]
308
AXISH S 75,000 0 75,000
o1&
75,000 0 75,000/01 RAXSHHBAESEZ
oQ2)|g I8 U FUBX2 = 75,000
(%) 25,000
() 50,000
403
XXISHH S 17,112,500 0 17,112,500
X0l &
17,112,500 0 17,112,500 (01 KX SHMA=28X
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&:(3000) 2 MIOHEHl  2:(3200) Xl =& HMIJH £l &:(3210) 2 M S 4 Mg (3216) E XS Rl 2 2] HIAIE: (210) X ALS 2[R AH]
L = Hod | oy i}
ol & o ok E5 Ol ES
I BN MIAIE = o & ¥ = A %
o)HOIMYNEXS 15,275,000
2 11,750,000
[ 3,525,000
o22)|Y RXSAI} HULZE = 1,837,500
[ 262,500
= 1,575,000
220
Kb AbL 1,011,400 1,011,400
201
B2 | 500,000 500,000
500,000 500,000 (01 L eHe ]
CIIAER KA HEEZ(TV, 2R 5) = 500,000
307
oI2to| ™ 338,000 338,000
338,000 338,000(05 212t9IEZ
OHAEXNSRAIES TH 2L EXEHS| A = 50,000
oQZQIEXAAME ZHOIX AHIO0E = 8,000
o2 EXAHS| A = 280,000
308
XSS 15,000 15,000
o]Fs]
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3216) F Xt= Xl 22l NIAIES: (220) KR ALY (=3[ dE]

t = ST I == e Im]
O AF oM A 2 ol =
X 2 B NIEE. HIMIE = of & o = A 2
15,000 0 15,000/08 J|EIEHZ2
CRNMHPYRUFIU2YUY A2 = 15,000
403
NI S 158,400 0 158,400
20| &
158,400 0 158,400(01 AMXISHHANE2E X
o220 AXH BX2 = 158,400
N = & H 114,316,306 109, 144,857 5,171,449
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